435¢ + 3709 + 2659 =
2 7'.% of 6m = = cm

3 53-019=

4 4x=28. Find the value of x
5 Wr’ite in digits 0.65 million.
‘6 1.55x8=

0 1.3km~-750m=m

i '£4.57 X b=

9 376min': h  min

10 10 -107 =

N . 23
At Write as a decimal 5 + qa00 -

12 £360+20= p

_1_' Find in metres the total of 6m, 90cm,
Zem and 8mm.

2 increase £50 by 4%.

<3 What is the area of the largest triangle
that can be cut from a square with sides
measuring 8cm each?

‘4 How many days inclusive from 2 July
to 5 September?

.5 Find the change from £5 after spending
35p and £1.58.

6 Write to the nearest 1p.
a £0.345
o £1.014

“7: Write these numbers, putting in a

decimal point so that the value of
the 3 in each is equat to 3 hundredths.

a 463 b 536 ¢ 1003

i . 1 . .
8: Write 3 as a decimal fraction correct
1o two decimal places.

9. How many grams in 65% of 1kg?
L HB 20 peppers cost £6.60. Find the cost of 8.

““Find the total in litres of (650ml x 4}
sand 0.4l

B.g7Bm
£52
32cm?
&o6d
£3.06
a. 35p
b £1.01
a 463 _
b 6,535
C .63
.33
6500
fz04 .
3t
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12

Subtract £1.60 from the total of twelve
20ps, five 10ps and seven 5ps.

When a mémber is divided by 8 the
answer is 7. What is the number?

Which digit other than 1 is a factor
of all these numbers?

| 15 12 18 51 21

17515 What number
6) x does x represent?
Divide the fraction % by 3.
How many years are between MDCCXCV

and MDCCC? Give your answer in digits.

Find in mm? the area of
a the parallelogram =

b the shaded triangle. b

30mm

Daniel has £20 to spend in seven days.
How much is this per day to the
nearest 10p?

~B a Name the
angle which
is vertically
opposite to
D £ CYA.

b Write its measurement in dagrees. b

¢ Write the measurement in

degrees of £ CYB. L

For how many hours and minutes is
the office open sach day? . Bh

8.50 am.
12.15 p.m. to 1.45 p.m.
515 p.m.

office opens

closes for funch

office closes

Dinner for eight people cost £120.00.
How much will dinner cost for 10 people

Schofield & Sims

e

Roomm?

200mm?

at the same rate? E150 e

A 4cm line on a plan represents a
distance of 10m.

a What does 1cm represent?

b Write the scale as a fraction.

Mental Arithmetic 5 Answers

10

1

i2

10

(156 + 64) - =123 , 97
3.014 x 100 = 3074
Bt

6.5% of £8.00= p ] 52p
860m + 312m + 140m = = km ) 1.312km

Find the cost of 2.5m at £1.40 per metre. £3.50

N
3
+2= ) g

(V1]

350kg x 6= tonnes o 21

2min 43s + 5min 38s = gmin Zis
X+ 1.15 = 2.2, Find the value of x.
f250x%x 36 =

£u0.00

Find the difference between

9624 + 6and {96 - 24) + 6. . CBD
Write 3.454kg to the nearest 100g. . I.Ekg

The average of 8 numbers is 25.
Find the sum of the numbers. i

What percentage is

a 15pof £3 a.. ... . =%
b 40p of £27 b - oy
How many times greater is 30.7 than 3.077 D
Write 2 in its lowest terms, - ) ;

One doughnut costs 11p. Fing the cost of
a 100
b 500.

b £5500

How many centimetres more than 2m
is the perimeter of a regular hexagon
with sides measuring 35cm each?

1000 % 100 x 10. Write the answer
in words. ~ona miilion

Which of these numbers are
sguare numbers?
[

How many pieces of tape each 12.5cm

long can be cut from 2m of tape? 1B

A sguare has an area of 0.16m2. Find

©
=
B
3

a the length of one side in metres

b the perimeter in centimetres,

L7 35 1 64 121 50 184,021

10

"

2

SECTION 3 Test 2

A fuli truck has a mass of 4180kg.

The mass of the truck when empty is
3200kg. Find, in kilograms, the mass
of the truck’s load. ) . BRLkg

Write the distance between X and Y
a in millimetres

b in centimetres b

¢ In metres. C

10 20 30 40 50 60 70%
mm i
‘\\'Illlllgltt\‘<\II|i\H‘HH|Ii‘ H‘IIIH;IIIIJH

‘ ¢
INERNRNANEEN RN AYNA]
t

X Y

] .
HOV}I many %1 giasses can be filled from
a33lcarton? RN -

An aeroplane travels at a speed of
1800km/h. How far will it travel in

a2 1min 40km

b 1s? b 500m

A stack of Tp coins is 3cm high. Each coin
is 1.5mm thick. What is the fotal value of
the coins? e 28R

What volume of concrete in m? is
needed to cover the base to a depth
of 10cm?

£
& 1 base of shed

Em

e~

5m

By how much is 5% of £250 greater
than 4% of £250? £2.50

Emily’s watch loses 2min each day.
How many seconds is this per hour? I 05

Find the cost per
crayon to the
nearest penny
when buying

Stationery
100 crayons £2.55
1000 crayons £20.20

o

a 100 crayons
& 1000 crayons. b

b
-

Waoden planks 10cm wide are used to-
cover a floor 4m long and 3.5m wid'e.'_". :

Find the fotal length of the strips... _A4ADm

A model aeroplane is made to a scale of

1:50. If the span of the wings of the model’

is 20cm, what is the actual tength in -

metres of the span of the afrcraft'swargs?  _15m

By how many
metres is the
distance from
AtoCviaB
less than the
distance from
C to B via A?




